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TEST - 22 (Textbook)
(INSTA Prelims Test Series 2021 )

Despite being at such higher latitudes, one finds that the Siberian climate is largely absent in the

Southern Hemisphere due to

1. The Southern Hemisphere does not experience as strong continentality as the Northern hemisphere
does.

2. All major land regions in the Southern Hemisphere are subject to Westerlies throughout the year and
polar easterlies are absent.

Which of the above is/are correct?

A. 1 only B. 2 only C.Both 1 and 2 D. None

Nirmal Art is 400-year-old rich tradition that encompasses wood toys and attractive duco paintings

(Shiny paintings) as well as furniture, it also has a geographical indication (GI) tag. This tradition is

practiced mainly in which of these regions?

A. Adilabad B. Mysore C. Varanasi D. Chitrakoot

Consider the following with reference to the procedure of the removal of a judge of the Supreme

Court in the Judges Enquiry Act (1968).

1. The prior permission of President is necessary for introducing any motion to impeach a judge.

2. The charges against the judge must be investigated by a Parliamentary panel appointed by the presiding
officer of the house.

Which of the above is/are correct?

A. 1 only B. 2 only C.Both 1 and 2 D. None

Consider the following about the Speaker Pro Tem.

1. She is elected by the Lok Sabha from amongst the members of the house.

2. She is responsible for chairing the meetings of Lok Sabha until the new elected Speaker becomes
acquainted with the Parliamentary procedures.

3. The Speaker Pro Tem has all the powers of the Speaker.

Select the correct answer using the codes below.

A.1and 2 only B. 3 only C. 1 only D. None of the above
The total precipitation of Siberian climate is decided by

1. Proximity to the Poles 2. Temperate monsoons 3. Penetration of cyclones

Select the correct answer using the codes below.

A. 1 only B. 1 and 3 only C. 2 and 3 only D. 1,2 and 3

Which of the following is/are observed as you move from Taiga to Tundra?

1. The average height of vegetation increases. 2. The depth of permafrost decreases.

Select the correct answer using the codes below.

A. 1 only B. 2 only C.Both 1 and 2 D. None

Which of the following fall under the Directive Principles of State Policy?

1. Organisation of agriculture and animal husbandry

2. Protection and improvement of environment and safeguarding of forests and wild life

3. Protection of monuments and places and objects of national importance

Select the correct answer using the codes below.

A. 2 only B. 1 and 3 only C. 1 and 2 only D. 1,2 and 3

The two styles Natyadharmi and Lokadharmi, respectively, can be best characterized by which of
these modern terminologies?

A. Religious and Secular B. Theatrical and Natural C. Mild and Aggressive D. Public and Private
Which of the following come under the Union List in the Seventh schedule of the Constitution of
India?

1. Central Bureau of Intelligence and investigation

2. Preventive detention for reasons connected with the security of India

3. Pilgrimages to any places inside India

4. Port quarantine and marine hospitals

Select the correct answer using the codes below.

A.1,2,3and 4 B. 1 and 2 only C. 1,2 and 4 only D. 3 and 4 only
Which of the following come under the Concurrent list of the Seventh Schedule of the Constitution?
1. Welfare of labour including conditions of work 2. Provident funds

3. Workmen’s compensation and old age pensions 4. Maternity benefits

Select the correct answer using the codes below.
A. 2 only B. 1, 3 and 4 only C. 1,2 and 3 only D.1,2,3and 4



